AXIOM® TISSUE LEVEL SURGICAL COMPONENTS AXIOM® TISSUE LEVEL SURGICAL COMPONENTS AXIOM® TISSUE LEVEL SURGICAL COMPONENTS

[ -
® HEALING SCREWS
QX I O m IMPLANT RANGE AXIOM ® TL REG AXIOM® TL PX AXIOM® TL REG & PX

ST N PLATFORM 4.0 mm N PLATFORM 4.0 mm HEALING SCREW RPLATFORM N PLATFORM
° 4.8 mm 4.0 mm
Tissue Level
included
; 2 T ¥
H RO Length I\!eck @3.4mm @ @ 4.0 mm @ 4.6 mm @52mm @ ?34mm @ @ 4.0 mm ?3.4mm @ @ 4.0 mm @ 4.6 mm @52mm @ ?3.4mm @ @ 4.0 mm
k7 height THS-R210 THS-N210
4 7155-NO 1.5 mm - TOP40060R1 TOP46060R1 TOP52060R1 - TOP40060NT1 - TPX40060R1 TPX46060R1 TPX52060R1 - TPX40060NT1
6.5mm 2.5mm - TOP40060R2 TOP46060R2 TOP52060R2 - TOP40060N2 - TPX40060R2 TPX46060R2 TPX52060R2 - TPX40060N2 4mm ﬁ
3.5mm - TOP40060R3 TOP46060R3 - - TOP40060N3 - TPX40060R3 TPX46060R3 - - TPX40060N3 %
1.5 mm TOP34080R1 TOP40080R1 TOP46080R1 TOP52080R1 TOP34080N1 TOP40080N1 TPX34080R1 TPX40080R1 TPX46080R1 TPX52080R1 TPX34080N1 TPX40080N1
8 mm 2.5mm TOP34080R2 TOP40080R2 TOP46080R2 TOP52080R2 TOP34080N2 TOP40080N2 TPX34080R2 TPX40080R2 TPX46080R2 TPX52080R2 TPX34080N2 TPX40080N2 THS-R410 THS-N410
3.5mm TOP34080R3 TOP40080R3 TOP46080R3 - TOP34080N3 TOP40080N3 TPX34080R3 TPX40080R3 TPX46080R3 - TPX34080N3 TPX40080N3 Straight 2 mm
1.5mm TOP34100R1 TOP40100R1 TOP46100R1 TOP52100R1 TOP34100NT1 TOP40100NT1 TPX34100R1 TPX40100R1 TPX46100R1 TPX52100R1 TPX34100N1 TPX40100NT1 3
10 mm 2.5mm TOP34100R2 TOP40100R2 TOP46100R2 TOP52100R2 TOP34100N2 TOP40100N2 TPX34100R2 TPX4000R2 TPX46100R2 TPX52100R2 TPX34100N2 TPX40100N2 T ?
3.5mm TOP34100R3 TOP40100R3 TOP46100R3 - TOP34100N3 TOP40100N3 TPX34100R3 TPX40100R3 TPX46100R3 = TPX34100N3 TPX40100N3
1.5mm TOP34120R1 TOP40120R1 TOP46120R1 TOP52120R1 TOP34120N1 TOP40120N1 TPX34120R1 TPX40120R1 TPX46120R1 TPX52120R1 TPX34120N1 TPX40120N1 THS-R200 THS-N200
12mm 2.5mm TOP34120R2 TOP40120R2 TOP46120R2 TOP52120R2 TOP34120N2 TOP40120N2 TPX34120R2 TPX40120R2 TPX46120R2 TPX52120R2 TPX34120N2 TPX40120N2
3.5mm TOP34120R3 TOP40120R3 TOP46120R3 - TOP34120N3 TOP40120N3 TPX34120R3 TPX40120R3 TPX46120R3 - TPX34120N3 TPX40120N3
1.5mm TOP34140R1 TOP40140R1 TOP46140R1 - TOP34140N1 TOP40140N1 TPX34140R1 TPX40140R1 TPX46140R1 - TPX34140N1 TPX40140N1
14 mm 2.5mm TOP34140R2 TOP40140R2 TOP46140R2 - TOP34140N2 TOP40140N2 TPX34140R2 TPX40140R2 TPX46140R2 - TPX34140N2 TPX40140N2
3.5mm TOP34140R3 TOP40140R3 TOP46140R3 - TOP34140N3 TOP40140N3 TPX34140R3 TPX40140R3 TPX46140R3 - TPX34140N3 TPX40140N3
1.5 mm TOP34160R1 TOP40160R1 - - TOP34160NT1 TOP40160NT1 TPX34160R1 TPX40160R1 - - TPX34160NT1 TPX40160N1
16 mm 2.5mm TOP34160R2 TOP40160R2 - - TOP34160N2 TOP40160N2 TPX34160R2 TPX40160R2 - - TPX34160N2 TPX40160N2
3.5mm TOP34160R3 TOP40160R3 - - TOP34160N3 TOP40160N3 TPX34160R3 TPX40160R3 ° = TPX34160N3 TPX40160N3
Round bur* (INFB20) [ =————— _— _— _— _— _— _— _— _— _— _— [ =—————
Pointer drill (OPPO15150) D15 [L————=" g [————=0 g [————=0 g [L————=" g [————=0 g [————=0 g [————=0 g [————=0 g [L——————=" g [————=0 g [————=0 g [————=0 g
Lindemann bur* (OPR20) 020 e—— oe——— oe——— [e——— e oe——— oe——— oe——— oe——— [oe——— e oe——— oe——— oe———
Initial drill £ e e o psses . PGS s . PGS T . PGS s . e s . e s (. PGS e pesses . S s (. S s (. PGS (s . PGS (s . S (e
o § OPFI205 OPFI20L OPFI20S OPFI20L OPFI20S OPFI20L OPFI20S OPFI20L OPFI20S OPFI20L OPFI205 OPFI20L OPFI20S OPFI20L OPFI20S OPFI20L OPFI205 OPFI20L OPFI20S OPFI20L OPFI20S OPFI20L OPFI205 OPFI20L Axiom® Multi-Level®
S OPID020 OPJD020 OPJD020 OPJD020 OPJD020 OPJD020 OPJD020 OPJD020 OPID020 OPJD020 OPJD020 OPJD020 Su rgical kit
e e o awweEme s USRS s awweeme s USRS ;- pawrwesse s WSS ;- _awrwesse - |UIEES - _jpawrwesse c- . |UESS - _jGarwse - |UMEES ;- jEawwwsme c— . |WNESS ;- jeawwemse - |WNESS i jeswwvsme - |UMEES - jeswwvmme - . |UMEES ;- mawwwmme c— . |WOEES ;| aw-wwmme
;E OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L OPFE24S OPFE24L
o b Sa
Y e
;E OPFE30S OPFE30L OPFE30S OPFE30L OPFE30S OPFE30L OPFE30S OPFE30L OPFE30S OPFE30L OPFE30S OPFE30L OPFE30S OPFE30L OPFE30S OPFE30L OPFE30S OPFE30L OPFE30S OPFE30L b % J
gﬁ =1 EE E{vv) ==y EE Eivvs) r==u EE g{mwE) === 5m mivwE) (=== Em givwE) (=== Em givwE) (=== Em givwE) === EE gfvwE) (=== Em givwE) (=== Em givwE) . 4 ‘@& g
OPJD030 OPJD030 OPJD030 OPJD030 OPJD030 OPJD030 OPJD030 OPJD030 OPJD030 OPJD030 “@ \ ’ p 4
T T (VD 0 e (WD 00 LT [ S T, e S e - (W e .\0\ b@ &
CO m po n e nts OPFE36S OPFE36L OPFE36S OPFE36L OPFE36S OPFE36L OPFE36S OPFE36L OPFE36S OPFE36L OPFE36S OPFE36L ! !’/E 3 ]
. == HE gl = §E Sl == HE Eiewe == HE gl == §E Sl == HE gl > "é ’/g S
overview OPJD036 OPJD036 OPJD036 OPJD036 OPJD036 OPJD036 3* b
OPFE42S OPFE42L OPFE42S OPFE42L OPFE42S OPFE42L — ’ h'\'g’})’ j
OPID042 OPJD042 Calibrating film Calibrating film OPJD042 .
* Axiom® TL REG Axiom® TL PX =
:g OPFEASS OPFEASL TOPFC-NOT TPXFFZ-NOT
s% 11 (e
OPJD048
OPTA34L OPTA40L OPTA46L OPTAS52L OPTA34L OPTA40L
Implant mandrel / SHORT LONG SURGICAL DYNAMOMETRIC WRENCH ANTHOGYR vureneh Manual surgical wrench
wrench 18 mm 20 mm 28 mm 30 mm 2237 avenue André Lasquin
4 * 74700 Sallanches - France 351
a n t h D r % % ﬁ Phone: +33 (0)4 50 58 02 37
A Straumann Group Brand TIM1005 TIW1005 TIM100L TIWI100L INCCDC Photo credits: Anthogyr - All rights reserved - Non-contractual photos. ~ C198_GB - 2019-12 WWW.a nthogyr.com OPCS100

*Not included in INMODOPS3 surgery kit



AXIOM® TISSUE LEVEL PROSTHETIC COMPONENTS AXIOM® TISSUE LEVEL PROSTHETIC COMPONENTS AXIOM® TISSUE LEVEL PROSTHETIC COMPONENTS AXIOM® TISSUE LEVEL PROSTHETIC COMPONENTS AXIOM® TISSUE LEVEL PROSTHETIC COMPONENTS

IMPRESSION TAKING TI-BASE TEMPORIZATION INSTRUMENTS & SCREWS
SINGLE RESTORATION SINGLE CEMENTED OR SCREW RETAINED RESTORATIONS SINGLE RESTORATIONS Black M1.6 prosthetic screw == 75160
IMPLANT LEVEL Ti-base FLEXIBASE ¢ ¢ Te;npo;ary abutment IMPLANT LEVEL Titanium M1.6 prosthetic screw =] TS161
Conventional impression Digital impression . 5.0 mm 4.0 mm indexe R PLATFORM 4.8 mm N PLATFORM 4.0 mm
i & b ’Z-Q Coronal height: 3.5 mm Size L Block Size S Block Short LAB M1.6 screw B 15163
R PLATFORM 4.8 mm N PLATFORM 4.0 mm R PLATFORM 4.8 mm | N PLATFORM 4.0 mm w"‘/ ’NZ\
. b g En . S ——
Short Long Short Long W ) M6 black screw included R PLATFORM 4.8 mm N PLATFORM 4.0 mm FOR R PLATFORM 4.8 mm FOR N PLATFORM 4.0 mm ,/ Long LAB M1.6 screw 15162
S i e forrzr;;Iog x:eivt’;‘z’l’fc’i’; Black M1.6 prosthetic screw (plural) O—=mn TS160P
Screw included for printed 75160 w w F Short LAB M1.6 screw (plural) = T5163P-2 (x2)
@ Hexagonal wrench model @ Hexagonal wrench TFLEX-R TFLEX-N TBASEC-R-L TBASEC-N-S 1] Ts161 TC100-R TCI00-N Long LAB M1.6 screw (plural) IR (x2)
Axiom® Multi-Level® TT200-R TT200L-R TT200-N TT200L-N Digital transfer Cast coping 1 ‘ R Short h I h s-
Prosthetic Kit Pick-up transfer Indexed I I ’ ort hexagonalwrenc INCHECY
Long and short M@ ' ‘
i Manual
screws included ) ° J ‘ Long hexagonal wrench %—
@ Hexagonal wrench TT300R TT300-N 156-02-DT 156-01-DT Hexagonal wrench TFLEXC-R OPFLEXC403 INCHELV
Abutment analog Analog for printed model Labora’(cjory r Wrench for Scan-Adapter XL hexagonal wrench %
Scan Adapters @ ‘ INCHEXLY
M’:@ ;S.Nﬁ == Short hexagonal mandrel Fe—— INMHECY
—— [——— PA-TOOL-01 SATOOL-01
3 e
@ texagonal wrench TA100-R (x7) TA100-N (x7) 156-02-PA (x7) 156-01-PA (x7) 156-0X-SAA Long hexagonal mandrel INMHELV
TA100-R-4 (x4) TA100-N-4 (x4) 156-02-PA-4 (x4) 156-01-PA (x4) XL hexagonal mandrel —_—— Y
MULTIPLE SCREW RETAINED PROSTHESIS MULTIPLE SCREW RETAINED RESTORATIONS ;
Screwdriver for Scan-Adapters =iz SATOOL-01
IMPLANT LEVEL FLEXIBASE
Conventional impression Digital impression Ti-base R PLATFORM 4.8 mm ‘ N PLATEORM 4.0 mm Dynamometrical ratchet wrench ! INCCD
R PLATFORM 4.8 mm N PLATFORM 4.0 mm R PLATFORM 4.8 mm | N PLATFORM 4.0 mm N W
: Wrench N.cm
Pop-|r.1 transfer foranalog b m m
Screw included for printed ze,;l%agonal 75160 To rq Control ‘\
.Hexagonal wrench .. model TFLEX-R-P TFLEX-N-P . . P
ILT200-R-4 (x4) ILT200-N-4 (x4) Digital transfer Cast coping Universal dynamometric _
Pick-up transfer (Manuat T i wrench
Non indexed ﬁ- * M@
Long and short screws included IT100-R (x) ILTI00-N (1) ‘! J
R (x -N (x
@ Hexagonal wrench ILTI00-R-4 (x4) ILTI00-N-4 (x4) 156-02-DT-IL 156-01-DT-IL ® exagonal wrench TFLEXC-R-P TFLEXC-N-P
Abutment analog Analog for printed model Laboratory Wrench for Sca n_Adapter
Scan Adapters (N
Manual’ !
@ <5N.cm 2 ‘ o ——
s E—— SATOOL-01
@ Hexagonal wrench TAT00-R (x7) TAT00-N (x7) 156-02-PA (x7) 156-01-PA (x7) PA-TOOL-01 156-0X-5A0
TA100-R-4 (x4) TA100-N-4 (x4) 156-02-PA (x4) 156-01-PA (x4)
- ABUTMENT LEVEL - _ -
ABUTMENT MULTIEUNIT —— , o , UBIBIEENIT S ACCESSORIES & FINAL COPING ARSI FLEXIBASE ON MULTI-UNIT MULTIUINIT ABUTMENT LEVEL Wrench for straight MU abt %
Conventional impression Digital impression MUW100
: , Emb _ 040mm/N |
‘)I;/\BUUL%I'II\ALé’l:lIIT'g @ 4.8 mm /R @40mm/N ®4.0mm/N @40mm/N mbase $4.0mm/N 40mm/N Mandrel for straight MU abt = MUMI00
Pop-in transfer Protective cap |STERILE “m m @ Black screw Titanium provisional .
STERILE Wrench for MUCAP (1) MUCAP.4 (x4 MUNCAP : indluded m coping Long mandrel for straight MU abt ] MUMI00L
Manual analog for . /\
’Zh MUT200 (x7) MUNT200 (x7) Digital transfer printed mode! JRGSESICEUEI A (‘) (ﬂ) MU140 MUFLEX @ Short prehensile tool for MU — MUWS
& MUT200-4 (x4) MUNT200-4 (x4) & MUA200 (x1)  MUA200-4 (x4) MUNA200 - .
Pick-up transfer — - Cast coping — P m— M1.6 MU black screw for Axiom® fr— OPMUIE0
t i | (”;';,"a‘ I Castable coping —— A— screw included MUC100 MUNC100 MUabt
| < .cm
@:al T | ], : MUC300 MUNC300 MUFLEXC MUNFLEXC il M1..6 NLU titanium lab screw for = OPMUTET
MU screws MUTI00 (x1) MUNTI00 (x]) L] CoCr castable coping © j— | — e Axiom® MU abt (blue)
included MUT100-4 (x4) MUNTI00-4 (x4) 151-03-DT-MU 151-04-DT-MUN MUC200 MUNCA00 Laboratory Scan Adapters - : M1.4 MU black screw for ti co cr Eiw MUT4O
: . ; thesis
Analo ) . i | L | PEEK provisional coping pros
& Analog for printed model S e e vl S B @ ' 1 M1.4 MU titanium screw for zirco- -
@ MUNPACI00 151-03-5A0 151-04-SA0 ‘ i 3 nium prosthesis MU140Z
Anal ific® -; : L
MUI\%CHO Wrench for Scan-Adapter M1.4 MU titanium 3 ' R A IO (21 S0 ot ey
PA-TOOL-01 ‘ e screw included MUC200 MUNC200 MU short lab screw = MUTIO1
MU blue M1.4 MUA100 (x1) MUNAT00 (x1) 151-03-PA (1) 151-04-PA (x1) Castable pacific e SATOOL-O1 ' MU0z
screw included MUAT00-4 (x4) MUNAT00-4 (x4) 151-03-PA-4 (x4) 151-04-PA-4 (x4) MUNPAC120 - MU long lab screw s MUTI02

® MU titanium screw MUI40Z included ® MU black screw MUT40 included — ® MU laboratory screw MU141 included



